2. MIPAS Daily Report for level 2 products summary report
(See mipas_daily_report_level2_ ML2PP_7_03_W_20051117.html for a detailed report).
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¢ 2.1.1 Report summary
¢ 2.1.2 Summary per product

2.2 Processing performance indicators

e 2.2.1 Successful retrievals

e 2.2.2 Pressure overview

e 2.2.3 Temperature overview

¢ 2.2.4 Species overview

¢ 2.2.5 History of daily averages

2.1 General Info

This report contains a daily analysis on parameters extracted from MIPAS level 2 data (The MIP_NL__ 2P product).

2.1.1 Report summary

The table below shows general characteristics of the data that are included into this report.

Item Value
Report version v1.11 26-05-2015
Time of report generation 20APR2016 16:38:39
Data source version ML2PP/7.03-W
Processing scope for products 17NOV2005 00:00:00 to 18NOV2005 00:00:00

Start time of first product within scope | 16NOV2005 23:21:28
Stop time of last product within scope |17NOV2005 14:31:27
Total number of level 2 products 6
Number of level 2 products with errors |0

2.1.2 Summary per product

The following table shows a summary for each product used in this report.

# Product name Start time Stop time Prod err |Number of scans (tot/proc) Quality summary warnings
0|MIP_NL__2PWDSI20051116_232128_000055232042_00331_19423_1000.N1|16NOV2005 23:21:28 | 17NOV2005 00:53:31 |0 122/122 VMR_TERM_MACRO_MICRO[HCN/micro:1]
1|MIP_NL__2PWDSI20051117_005838_000059912042_00332_19424_1000.N1 |17NOV2005 00:58:38 | 17NOV2005 02:38:29 |0 132/132 VMR_TERM_MACRO_MICRO[HCN/macro:1]
2|MIP_NL__2PWDSI20051117_023836_000005202042_00333_19425_1000.N1{17NOV2005 02:38:36 | 17NOV2005 02:47:16 |0 12/12

3|MIP_NL__ 2PWDSI20051117_110539_000046162042_00338_19430_1000.N1|17NOV2005 11:05:39 | 17NOV2005 12:22:36 |0 102/102 VMR_TERM_MACRO_MICRO[HCN/micro:1]

4 |MIP_NL__2PWDSI20051117_124249_000059912042_00339_19431_1000.N1|17NOV2005 12:42:49 | 17NOV2005 14:22:41 |0 132/132 VMR_TERM_MACRO_MICRO[F14/macro:1; HCN/micro:4]
5|MIP_NL__2PWDSI20051117_142247_000005202042_00340_19432_1000.N1|17NOV2005 14:22:47 | 17NOV2005 14:31:27 |0 12/12

2.2 Processing performance indicators
2.2.1 Successful retrievals

This section includes a table with statistics on the number of retrievals, as well as a worldmap plot that shows successful retrievals.

RETRIEVAL MDS |# scans processed |# Successful retrievals| %

PT 512 461 90.039
H20 512 461 90.039
03 512 461 90.039

HNO3 512 461 90.039




CH4 512 461 90.039
N20 512 461 90.039
NO2 512 461 90.039
F11 512 461 90.039
CLNO 512 461 90.039
N205 512 461 90.039
F12 512 461 90.039
COF2 512 461 90.039
CCL4 512 461 90.039
HCN 512 461 90.039
F14 512 461 90.039
F22 512 461 90.039

Mumber of succassful retrievals ve, geolocation {#+=day side , triangle=night side}.
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2.2.2 Pressure overview

This section shows values (left) and error (right) for pressure after binning individual sweep values over retrieved altitude and tangent latitude.
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2.2.3 Temperature overview

This section shows values (left) and error (right) for temperature after binning individual sweep values over retrieved altitude and tangent latitude.
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2.2.4 Species overview
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2.2.4.1 H20 overview This section shows values (left) and error (right) for H20 after binning individual sweep values over retrieved altitude and tangent latitude.
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2.2.4.2 O3 overview This section shows values (left) and error (right) for O3 after binning individual sweep values over retrieved altitude and tangent latitude.
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2.2.4.3 HNO3 overview This section shows values (left) and error (right) for HNO3 after binning individual sweep values over retrieved altitude and tangent latitude.
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2.2.4.4 CH4 overview This section shows values (left) and error (right) for CH4 after binning individual sweep values over retrieved altitude and tangent latitude.
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2.2.4.5 N20 overview This section shows values (left) and error (right) for N20 after binning individual sweep values over retrieved altitude and tangent latitude.
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2.2.4.6 NO2 overview This section shows values (left) and error (right) for NO2 after binning individual sweep values over retrieved altitude and Sun Elevation Angle. Note that for NO2 the bin heights are 8 km.
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2.2.4.7 F11 overview This section shows values (left) and error (right) for F11 after binning individual sweep values over retrieved altitude and tangent latitude.
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Temnperature [K] for pressure 100.0 kPa
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@ [F-E-20 ta 20 deg
2 20 to 35 deq
E ............................ Lot i it et e s m s m s m s rm e am s m s Ea s s s a o EEarma e L T T T T T T T T T T T T _Eﬁ tD EI:' dEH
5 4 : ' ' B0 to 90 deg
a

7Y — S S A— S S

0.0 : i : : : :

00300 (s 00,00 AN Q00000 005, a0 0000 ;00,00
18 /08,2005 03/08 /2005 1B,/08 /2005 03,/10,/2005 18/10 /2005 0% /11 /2008 17 /11 /2005

Timz [atart of day]




HCM wrr [pprov] for pressure 10002 hPa

1.0 : : :

LB b ............................. ............................ e ............................
¥ H—+—00 to —E80 deg
B O S S S .| Pex—B0 ta —BS deg
K3 —B5 to —20 deg
o [F-E1-20 to 20 deg
2 20 to 35 deq
E ............................ It iiitns st easeasoasansansaaganasansaenssnsasnsasnssnssnssnss Liiettessassasssssssssssnssnapassnssnssnssnssnssnssnssnsssli oot acsacsacsncsncsnnsnnngs _Eﬁ tD EI:' dEH
5 4 : ' ' B0 to 90 deg
&

P P, ........................................................ A ........................................................ A

iR : : : ; : :

D080, 00 09: 00,00 D000 Q000,00 Q00,00 O0z00.00 000,00
18 /08,2005 03/08 /2005 1B,/08 /2005 03,/10,/2005 18/10 /2005 0% /11 /2008 17 /11 /2005

Timz [atart of day]




F14 vmr [pprrv] for pressure 100.0 hPd

1.0 : : :

LB b ............................. ............................ e ............................
¥ H—+—00 to —E80 deg
B O S S S .| Pex—B0 ta —BS deg
K3 —B5 to —20 deg
o [F-E1-20 to 20 deg
2 20 to 35 deq
E ............................ It iiitns st easeasoasansansaaganasansaenssnsasnsasnssnssnssnss Liiettessassasssssssssssnssnapassnssnssnssnssnssnssnssnsssli oot acsacsacsncsncsnnsnnngs _Eﬁ tD EI:' dEH
5 4 : ' ' B0 to 90 deg
&

P P, ........................................................ A ........................................................ A

iR : : : ; : :

D080, 00 09: 00,00 D000 Q000,00 Q00,00 O0z00.00 000,00
18 /08,2005 03/08 /2005 1B,/08 /2005 03,/10,/2005 18/10 /2005 0% /11 /2008 17 /11 /2005

Timz [atart of day]




F22 vmr [pprrv] for pressure 100.0 hPd

1.0 : : :

LB b ............................. ............................ e ............................
¥ H—+—00 to —E80 deg
B O S S S .| Pex—B0 ta —BS deg
K3 —B5 to —20 deg
o [F-E1-20 to 20 deg
2 20 to 35 deq
E ............................ It iiitns st easeasoasansansaaganasansaenssnsasnsasnssnssnssnss Liiettessassasssssssssssnssnapassnssnssnssnssnssnssnssnsssli oot acsacsacsncsncsnnsnnngs _Eﬁ tD EI:' dEH
5 4 : ' ' B0 to 90 deg
&

P P, ........................................................ A ........................................................ A

iR : : : ; : :

D080, 00 09: 00,00 D000 Q000,00 Q00,00 O0z00.00 000,00
18 /08,2005 03/08 /2005 1B,/08 /2005 03,/10,/2005 18/10 /2005 0% /11 /2008 17 /11 /2005

Timz [atart of day]




Temperature [K] for preasure 10.0 hPa

280

260

240G
£} (90 to —50 deg
- - —B0 to —65 deg
m 230 —B5 to —20 deg
. [F-£1—20 ta 20 deg
Fa 20 to 35 deq
5 220 —— 65 to 0 deg
= &0 to 90 deq
A

710

2005

194 : ; : : : :

D0z 00L00 00 00,00 D0C000 000,00 Q000,00 Q000,00 000,00
18,/08, 5005 03/08 /3005 18,708 /3005 03,/10,2005 18,/10 /2005 0% /11 F3005 17/711,/2608

Timz [atart of day]



Tangent altitude [kmn] for pressure 1000 hPa
J& : 5 :

32

= 31 (90 to —50 deg
- - —B0 to —65 deg
o —B5 to —20 deg
® [F-£1—20 ta 20 deg
Fa 20 to 35 deq

z —— 65 to 0 deg
= &0 to 90 deq

A

]
sl

28

27 - . - . - .
D000 (000,410 00,00 (006,50 (00, 00 CEE0, 15 O 00,0
18/08,/ 2005 03 /D8 /2005 16,/08 /2005 03 A8,/ 2055 18/10 /2005 o8 /11 F005 17 /11 /2005

Timz [atart of day]



2.0

B3

Daily averaga [=as title]
o @
n 1

o
F

4.5

H2Z wrnr [pprev] for pressure 190.0 hPa

+—+—00 to —B0 deg
=+ —B0 to —65 deg
—G3 to —20 deg
[E1—Z0 to 20 deg
20 to 35 deq
—ES to 30 deq

B0 to 90 deg

40 . - : : , :
D000 (000,410 00,00 (006,50 (00, 00 CEE0, 15 O 00,0
18/08,/ 2005 03 /D8 /2005 16,/08 /2005 03 A8,/ 2055 18/10 /2005 o8 /11 F005 17 /11 /2005

Timz [atart of day]




12

O3 winr [ppmy] for pressure 10.0 hPd

+—+—8C to —80 deg
=3 —B0 to —B5 deg

B
o
o —B5 to —20 deg
. [F-E1-20 tn 20 deg
= 20 to 85 deg
z —— 65 to 0 deg
= &0 to 90 deq
a
a ' ' : ' : :

(K] A R AR 000,00 D00, 00 000,00 Q000,00 QI000L 00 00 00,00

19,708, 5005 03708 /2005 16,08 /2005 03,/10,2005 18,10,/2005 03711 /2008 17/11 /2805

Timz [atart of day]




Caily overage [see title]

0,008

D.o07F

HMO3 wmr [pprry] for pressure 1000 KPa

©.00E H—+—00 to —E0 deg
e B0 tn —B5 deg
—G3 to —20 deg
o 005 [F-E1—20 to 20 deg
20 to 35 deq
—ES to 30 deq
50 to 90 dag
0,004
0,003
0,002 - . . , : ,
D10, 00 005 00,010 D000, 00 0000, 00 (000, 00 000,00 00 (0,0
18 /08 /2005 03,08 /2005 16,08 /2005 03,10,/ 2005 18,10 /2005 0% /11 3005 17 £ /2005

Timz [atart of day]




CH4 wnr [ppmy] for pressure 10.0 hPa

1.6

1.4

1.2
= (90 to —50 deg
- - —B0 to —65 deg
m 1.0 —B5 to —20 deg
m [F-£1—20 ta 20 deg
2 20 to 35 deq
= 0.8 —— 65 to 0 deg
= &0 to 90 deq
a

0.6

0.4

.2 : : . : , .

D0z 00L00 00 00,00 D0C000 000,00 Q000,00 Q000,00 000,00
18,/08, 5005 03/08 /3005 18,708 /3005 03,/10,2005 18,/10 /2005 0% /11 F3005 17/711,/2608

Timz [atart of day]




Cally cwverage [see titla]

MNZ2 wrnr [pprev] for pressure 190.0 hPa

020 : .
= f g
R SRS . A i —
+—+—8C to —80 deg
4= —BC to —BS deg
' ; ' : ' ; —G3 to —20 deg
T [ T R S SO R S S , ................ T [HE1—20 to 20 deg
' 20 to 85 deg
—ES to 30 deq
50 to 90 deg
005 ---------------------------- ---------------------------- -----------------
000 I ; : : : ; :
Doz 00,00 Q0 00,00 Q000,00 Q000,00 Q000,00 Q000,00 Q0 00,00
18,/08/ 2005 03/0% /2005 18/09 /2005 03710,/ 2085 18/10 /2005 D251/ 2005 17 /11 ,/2805

Timz [atart of day]



Caily overage [see title]

MNOZ wrr, sun eleve==0 [ppmy] far pressure 10.0 hPa

0,008
.00y ¥
0,008
[——00 to —&0 deg
% —B0 to —B5 deg
©.005 —B65 to -20 deg
[F-51—20 ta 20 deg
20 to 35 deq
0,004 —FES to 80 deq
&0 to 90 deg
.00z
o002
0,001 : : - : . :
000000 000,00 Q000,00 Q000,50 Q000,00 000,00 A 00,00
19/08,/ 2005 03/05 /2005 16/08,/2005 03 /10,2045 18/10,/2005 02/11 /2005 17 /11 /2008

Timz [atart of day]



MOZ wrr, sun elev<0 [ppmy] for pressure 10.0 hPd

0,012

010

+—+—8C to —80 deg
=3 —B0 to —B5 deg

o’
& 0008
® : —B5 to —20 deg
o i | EFE-20 ta 20 deg
= ; § 20 to 85 deq
= E i | B8 ta 80 deg
S £.006 § ; 50 to 90 deg
& : 5
P
BT e T S : .................................................................................................................. - R
gona |+ - . - . - .
D000,00 0 00,00 O0:00.00 000,00 (500, 00 000000 003 00,00
18,/ 08,5005 0308 /2005 16,/08 /2005 03,10,/ 2005 18,/10 /2005 a2/11 /3008 17 /11 /2008

Timz [atart of day]



Caily everage [see title]

F11 winr [ppmy] far pressure 10.0 hPa

401077
36x1077
Inx1e™T
H—+—00 ta —E0 deg
e —B0 to —BS deg
-5
2.5¥10 —B5 to —20 deg
[F-£1—20 to 20 deg
20 to 35 deq
2.0x1070 ——65 to 80 dag
50 to 90 deg
1.5%107°
101070
G078 : : : : : :
(K] A R AR 000,00 D00, 00 000,00 Q000,00 QI000L 00 00 00,00
18 ,/08,/ 2005 03,08 /2005 16,/08 /2005 03,180,/ 2005 18,/10,/2005 02/ 1,/ 2008 17 A1 /2005

Timz [atart of day]



CLMO wmr [ppmy] for pressure 10.0 hPa

00014

0.0012
B 0.0010 (90 to —50 deg
- - —B0 to —65 deg
o —B5 to —20 deg
® 0 oo0s [F-£1—20 ta 20 deg
2 20 to 35 deq
= —— 65 to 0 deg
= &0 to 90 deq
& 0.0006

0.0004

0.0002 - . . : : :

D0z 00L00 00 00,00 D0C000 000,00 Q000,00 Q000,00 000,00
18,/08, 5005 03/08 /3005 18,708 /3005 03,/10,2005 18,/10 /2005 0% /11 F3005 17/711,/2608

Timz [atart of day]



Daily averaga [=se titls]

MNZCE vimr [pprmy] far pressure 19.0 hPa

0.8025
00020
+—+—00 to —B0 deg
0.0015 4= —BC to —BS deg
—G3 to —20 deg
[E1—Z0 to 20 deg
20 to 35 deq
40018 —ES to 30 deq
' B0 to 90 deg
00005
X e
0, 2000 : : H : H = + ﬁ%
(K] W R N A O 00,00 D0, O 000,00 Q00,00 Q00,00 O 00, D
‘IEI.-"'CI-E-J.-"ECI'DE DE;"EIE'I.-"'EE'DS 1Bl.-"'IfIEIJ.-'r2IfIEIE I'_“IEJ.-“I'EIJ.-’EEI'DE 1ﬂf1ﬂfﬂﬂ05 'DEI.-"'HJ.-’ECIE'E- 1?;’11,-"'2'le|5

Timz [atart of day]



Caily everage [see title]

F12 vinr [ppmyv] faor pressure 10.0 hPa
2Ex10™ 5 EEEEEEEHQEEEFEEEEEEEBEE E 5
: : EE EE i
2.'3}{1':'_4 ............................ i ............................ E ............................ §. ............................ ;, ............................ i.i
' : ' : : V| 80 to —80 deg
1 5 3044 st S S, R, st i L] [$X—B0 to —B5 deg
: : : : : : —B5 1o —20 deg
[F-E1—20 ta 20 deg
20 to 35 deq
—ES to 30 deq
-4
1010 S0 to 90 deg
Sax1a78
& . - . . , !
D080, 00 09: 00,00 D000 Q000,00 Q00,00 O0z00.00 000,00
18,/08,/ 2005 03 /08 /2005 16,/08 /3005 03 /10,2005 18710 /2005 0% /11 /2005 17,711 /2005

Timz [atart of day]



Caily everage [see title]

COFZ wmr [pprav] for pressure 10.0 kPa

51074
30x1074
25x107 H—+—00 to —E0 deg
e —B0 to —BS deg
—G3 to —20 deg
P— [F-£1—20 to 20 deg
20 to 35 deq
—ES to 30 deq
50 to 90 deg
1.65x107
10107
NP : : : : : '
(K] A R AR 000,00 D00, 00 000,00 Q000,00 QI000L 00 00 00,00
18 ,/08,/ 2005 03,08 /2005 16,/08 /2005 03,180,/ 2005 18,/10,/2005 02/ 1,/ 2008 17 A1 /2005

Timz [atart of day]



Cally overage [see titla]

CCL4 wmr [pprov] for pressure 19.0 hPa

41070
3x1070
2™
iy H—+—00 ta —E0 deg
Pl % —B0 to —65 deg
—G3 to —20 deg
o [F-£1—20 to 20 deg
20 to 35 deq
—ES to 30 deq
—{ =10 &0 to 90 deq
—2x1g
—3=1077
—4x107" - . - . .
(K] A R AR 000,00 D00, 00 000,00 Q000,00 QI000L 00 00 00,00
18 ,/08,/ 2005 03,08 /2005 16,/08 /2005 03,180,/ 2005 18,/10,/2005 02/ 1,/ 2008 17 A1 /2005

Timz [atart of day]




HCMH wrr [pprov] for pressure 100 hPa

1.0 H : H

P [+ eee e o ............................ o ............................
¥ H—+—00 to —E80 deg
f Y P N SO N S U B0 ta —65 deg
K3 —B5 to —20 deg
o [F-E1-20 to 20 deg
2 20 to 35 deq
E ................................................................................................................. R R e L _Eﬁ tD EI:' dEH
5 4 : ' : B0 to 90 deg
&

. ........................................................ S ......................................................... ........................................................

iR ; : : - : .

D080, 00 09: 00,00 D000 Q000,00 Q00,00 O0z00.00 000,00
18 /08,2005 03/08 /2005 1B,/08 /2005 03,/10,/2005 18/10 /2005 0% /11 /2008 17 /11 /2005

Timz [atart of day]



F14 vinr [ppmy] for pressure 10.0 hPa

1.0 H : H

P [+ eee e o ............................ o ............................
¥ H—+—00 to —E80 deg
f Y P N SO N S U B0 ta —65 deg
K3 —B5 to —20 deg
o [F-E1-20 to 20 deg
2 20 to 35 deq
E ................................................................................................................. R R e L _Eﬁ tD EI:' dEH
5 4 : ' : B0 to 90 deg
&

. ........................................................ S ......................................................... ........................................................

iR ; : : - : .

D080, 00 09: 00,00 D000 Q000,00 Q00,00 O0z00.00 000,00
18 /08,2005 03/08 /2005 1B,/08 /2005 03,/10,/2005 18/10 /2005 0% /11 /2008 17 /11 /2005

Timz [atart of day]



Caily averaga [eea titla]

20107

152107

1.0x107

F22 vinr [ppmyv] faor pressure 10.0 hPa

+—+—8C to —80 deg
=3 —B0 to —B5 deg

5.0%107° —B5 tg —20 deg
[F-E1—20 to 20 deg
20 to 35 deq
o —FES to 80 deq

50 to 90 deg

—5.0x107"

_-|r|:|_-:,:_--|.:}—+ ..........

—1.5x107 . . . . : !

Dz 0,0 O 00,00 D=0, O Qo080 Q00,00 Q08000 ;00,00
18,/ 08,5005 0308 /2005 16,/08 /2005 03,10,/ 2005 18,/10 /2005 a2/11 /3008 17 /11 /2008

Timz [atart of day]




Temperdature [K] for pressure 1.0 hPa

200

290

a0
0 (90 to —50 deg
w O 3 —B0 tn —65 de
o g
o —B5 to —20 deg
—— (E-E1-20 ta 20 deg
Fa 20 to 35 deq
z —— 65 to 0 deg
= 350 80 to 90 deq
&

245

230

220 ; : : : : :

D0z 00,00 Qe 00,00 D000 Q000,00 Q000,00 Q0000 00 00,00
19,708,/ 2005 03708 /2005 16,/08,/2005 03,710,205 18,/10 /2005 07 /11 72008 17 /11 /2005

Timz [atart of day]



Tangent altitude [km] for pressure 1.0 hPa

ah

4

48
0 (90 to —50 deg
- - —B0 to —65 deg
o 4 —B5 to —20 deg
o [F-E1-20 tn 20 deg
= 20 to 85 deg
= 4B —— 65 to 0 deg
= &0 to 90 deq
a

45

+4 %

a3l S - . - . : |

D0z 00L00 00 00,00 D0C000 000,00 Q000,00 Q000,00 000,00
19,708, 5005 03708 /2005 16,08 /2005 03,/10,2005 18,10,/2005 03711 /2008 17/11 /2805

Timz [atart of day]




i

HZC winr [pprmv] for pressure 1.0 hP4d

+—+—8C to —80 deg
=3 —B0 to —B5 deg

B
o
o —B5 to —20 deg
. [F-E1-20 tn 20 deg
= 20 to 85 deg
z —— 65 to 0 deg
= &0 to 90 deq
a
& ' ' : ' : :

(K] A R AR 000,00 D00, 00 000,00 Q000,00 QI000L 00 00 00,00

19,708, 5005 03708 /2005 16,08 /2005 03,/10,2005 18,10,/2005 03711 /2008 17/11 /2805

Timz [atart of day]




Q3 wmr [ppmy] for pressure 1.0 hPd

4.3

4.0
¥ H—+—90 to —E0 deg
Y B0 ta —65 deg
K3 —B5 to —20 deg
m [F-E1-20 ta 20 deg
2 20 to 35 deq
= —— 65 to 0 deg
= 3.0 B0 to 90 deg
8

2.5

2.0 : . : ; : :

OO 50,0]0 O 00,00 Pl EAN Qo0 Gi0 Q000,00 000,00 Q00,00
18,/08, 5005 03/08 /3005 18,708 /3005 03,/10,2005 18,/10 /2005 0% /11 F3005 17/711,/2608

Timz [atart of day]




HNOZ wrr [pprov] for pressure 1.0 hPa
0.0012 : 5 :

0LD07D |- -emmreeemn s ---------------------------- ---------------------------- ------- R -

| |

0.2008 H——20 to —E0 deg

=
- - —B0 to —65 deg
o —B5 to —20 deg
® 0 ao0e [F-E1-20 to 20 deg
2 20 to 35 deq
= —— 65 to 0 deg
= &0 to 90 deq
& 0.0004

0.0002

0,00 s : ; ; : :

D080, 00 09: 00,00 D000 Q000,00 Q00,00 O0z00.00 000,00
18,/08, 5005 03/08 /3005 18,708 /3005 03,/10,2005 18,/10 /2005 0% /11 F3005 17/711,/2608

Timz [atart of day]



0.6

0.3

Daily averaga [=as title]
o o
L4 "

=
fa

0.1

CH4 winr [ppmy] for pressure 1.0 hPd

+—+—00 to —B0 deg
=+ —B0 to —65 deg
—G3 to —20 deg
[E1—Z0 to 20 deg
20 to 35 deq
—ES to 30 deq

B0 to 90 deg

1.0 . - : : , :
D000 (000,410 00,00 (006,50 (00, 00 CEE0, 15 O 00,0
18/08,/ 2005 03 /D8 /2005 16,/08 /2005 03 A8,/ 2055 18/10 /2005 o8 /11 F005 17 /11 /2005

Timz [atart of day]




Caily overage [see title]

MNZC winr [pprmv] for pressure 1.0 hPd

D014
G.ol12
SRR
[—+—a ta B0 deg
80 tn —B5 deg
©.0038 —B65 to -20 deg
[F-£1—20 ta 20 deg
20 to 35 deq
oL O0E —FES to 80 deq
80 to 90 deg
o004
0.002 |y,
Pk
5,000 AX - : - : - :
Dz 0,0 O 00,00 D=0, O Qo080 Q00,00 Q08000 ;00,00
19,/08,/ 5005 03708 /2005 18,/08 /2005 03,710, 2005 18,10 /2005 8% /11 /2005 17711 /2005

Timz [atart of day]




Daily averaga [=se titls]

MNOZ wrar, sun elevs==0 [ppmy] for pressure 1.0 hPa

0,0008
02007
0.0008
a0 ta —E0 deg
0.0005 % —B0 to —65 deg
—G3 to —20 deg
—— [3-E1-20 ta 20 deg
20 to 35 deq
—ES to 30 deq
0.0003 80 to 80 deg
0,0002
0.0001
00000 - . ! , ; !
D0z 00L00 00 00,00 D0C000 000,00 Q000,00 Q000,00 000,00
19,708,/ 2005 03708 /2005 16,/08,/2005 03,710,205 18,/10 /2005 07 /11 72008 17 /11 /2005

Timz [atart of day]



Caily overage [see title]

MOZ winr, sun elev<0 [ppmy] for pressure 1.0 hPd

o014
.02
0,010
(90 to —50 deg
%8B0 ta —BS deg
©.0038 —B65 to -20 deg
[E1—-2C to 20 deg
20 to 35 deq
o008 —FES to 80 deq
S0 to 90 deg
o004
2,002
£.008 . - : o : :
(K] A R AR 000,00 D00, 00 000,00 Q000,00 QI000L 00 00 00,00
19,/08 /2005 03708 /2005 16,/08 /2005 03 /10,2005 18710 /2005 8% /11,3005 17 /11 /2005

Timz [atart of day]



F11 wmr [pprmyv] for pressure 1.0 hPg

1.0

P [+ eee e o ............................ o ............................
= (90 to —50 deg
f Y P N SO N S U B0 ta —65 deg
K3 —B5 to —20 deg
@ [F-E-20 ta 20 deg
2 20 to 35 deq
E ................................................................................................................. e T R T L _Eﬁ tD EI:' dEH
5 4 : ' : B0 to 90 deg
a

0.8 S S S S

0.0 : : : : : :

00300 (s 00,00 AN Q00000 005, a0 0000 ;00,00
18 /08,2005 03/08 /2005 1B,/08 /2005 03,/10,/2005 18/10 /2005 0% /11 /2008 17 /11 /2005

Timz [atart of day]



CLNO vmr [pprmy] for pressure 1.0 hPa

1.0

P [+ eee e o ............................ o ............................
= (90 to —50 deg
f Y P N SO N S U B0 ta —65 deg
K3 —B5 to —20 deg
@ [F-E-20 ta 20 deg
2 20 to 35 deq
E ................................................................................................................. e T R T L _Eﬁ tD EI:' dEH
5 4 : ' : B0 to 90 deg
a

0.8 S S S S

0.0 : : : : : :

00300 (s 00,00 AN Q00000 005, a0 0000 ;00,00
18 /08,2005 03/08 /2005 1B,/08 /2005 03,/10,/2005 18/10 /2005 0% /11 /2008 17 /11 /2005

Timz [atart of day]



NZOE vimr [pprmw] far pressure 1.0 hPa

08012

00018
= 0.0008 [—+—a ta B0 deg
- - —B0 to —65 deg
o —B5 to —20 deg
® o ooos [F-£1—20 ta 20 deg
2 20 to 35 deq
= —— 65 to 0 deg
= &0 to 90 deq
& 0.0004

0.0002

0,00 s ; : . : , .

D0z 00L00 00 00,00 D0C000 000,00 Q000,00 Q000,00 000,00
18,/08, 5005 03/08 /3005 18,708 /3005 03,/10,2005 18,/10 /2005 0% /11 F3005 17/711,/2608

Timz [atart of day]



F12 wmr [pprmyv] for pressure 1.0 hPa

1.0

LB b ............................. ............................ e ............................
= (90 to —50 deg
B O S S S .| Pex—B0 ta —BS deg
K3 —B5 to —20 deg
@ [F-E-20 ta 20 deg
2 20 to 35 deq
E ............................ Lot i it et e s m s m s m s rm e am s m s Ea s s s a o EEarma e L T T T T T T T T T T T T _Eﬁ tD EI:' dEH
5 4 : ' ' B0 to 90 deg
a

7Y — S S A— S S

0.0 : i : : : :

00300 (s 00,00 AN Q00000 005, a0 0000 ;00,00
18 /08,2005 03/08 /2005 1B,/08 /2005 03,/10,/2005 18/10 /2005 0% /11 /2008 17 /11 /2005

Timz [atart of day]




Caily averaga [=== title]

Q0004

00005

a.0002

0.0001

00000

COFZ wrr [ppriv] for pressure 1.0 hPa

+—+—00 to —B0 deg
=+ —B0 to —65 deg
—G3 to —20 deg
[E1—Z0 to 20 deg
20 to 35 deq
—ES to 30 deq

B0 to 90 deg

—01,0001 - . . , : :
D000 (000,410 00,00 (006,50 (00, 00 CEE0, 15 O 00,0
18/08,/ 2005 03 /D8 /2005 16,/08 /2005 03 A8,/ 2055 18/10 /2005 o8 /11 F005 17 /11 /2005

Timz [atart of day]




CCL4 wmr [pprov] for pressure 1.0 hPa

1.0

LB b ............................. ............................ e ............................
= (90 to —50 deg
B O S S S .| Pex—B0 ta —BS deg
K3 —B5 to —20 deg
@ [F-E-20 ta 20 deg
2 20 to 35 deq
E ............................ Lot i it et e s m s m s m s rm e am s m s Ea s s s a o EEarma e L T T T T T T T T T T T T _Eﬁ tD EI:' dEH
5 4 : ' ' B0 to 90 deg
a

7Y — S S A— S S

0.0 : i : : : :

00300 (s 00,00 AN Q00000 005, a0 0000 ;00,00
18 /08,2005 03/08 /2005 1B,/08 /2005 03,/10,/2005 18/10 /2005 0% /11 /2008 17 /11 /2005

Timz [atart of day]




HCM wrar [pprmv] for pressure 1.0 hPa

1.0

LB b ............................. ............................ e ............................
= (90 to —50 deg
B O S S S .| Pex—B0 ta —BS deg
K3 —B5 to —20 deg
@ [F-E-20 ta 20 deg
2 20 to 35 deq
E ............................ Lot i it et e s m s m s m s rm e am s m s Ea s s s a o EEarma e L T T T T T T T T T T T T _Eﬁ tD EI:' dEH
5 4 : ' ' B0 to 90 deg
a

7Y — S S A— S S

0.0 : i : : : :

00300 (s 00,00 AN Q00000 005, a0 0000 ;00,00
18 /08,2005 03/08 /2005 1B,/08 /2005 03,/10,/2005 18/10 /2005 0% /11 /2008 17 /11 /2005

Timz [atart of day]




F14 wmr [pprmyv] for pressure 1.0 hPa

1.0

LB b ............................. ............................ e ............................
= (90 to —50 deg
B O S S S .| Pex—B0 ta —BS deg
K3 —B5 to —20 deg
@ [F-E-20 ta 20 deg
2 20 to 35 deq
E ............................ Lot i it et e s m s m s m s rm e am s m s Ea s s s a o EEarma e L T T T T T T T T T T T T _Eﬁ tD EI:' dEH
5 4 : ' ' B0 to 90 deg
a

7Y — S S A— S S

0.0 : i : : : :

00300 (s 00,00 AN Q00000 005, a0 0000 ;00,00
18 /08,2005 03/08 /2005 1B,/08 /2005 03,/10,/2005 18/10 /2005 0% /11 /2008 17 /11 /2005

Timz [atart of day]




F22 vmr [pprmyv] for pressure 1.0 hPd

1.0

LB b ............................. ............................ e ............................
= (90 to —50 deg
B O S S S .| Pex—B0 ta —BS deg
K3 —B5 to —20 deg
@ [F-E-20 ta 20 deg
2 20 to 35 deq
E ............................ Lot i it et e s m s m s m s rm e am s m s Ea s s s a o EEarma e L T T T T T T T T T T T T _Eﬁ tD EI:' dEH
5 4 : ' ' B0 to 90 deg
a

7Y — S S A— S S

0.0 : i : : : :

00300 (s 00,00 AN Q00000 005, a0 0000 ;00,00
18 /08,2005 03/08 /2005 1B,/08 /2005 03,/10,/2005 18/10 /2005 0% /11 /2008 17 /11 /2005

Timz [atart of day]
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